11/20/2019 Print Test

PRINTABLE VERSION
Quiz 22

Question 1

Rewrite the following expression by using the laws of logarithms

lo (ﬁ)
g2 0

a) O loga(8) + log2(R) + log2(U) + log2(Q)
b) © logz(8) + logz(R) — log2(U) — log2(Q)
¢) O log2(8) + loga(R) + log2(U) — log2(Q)
d) © logz(8) + log2(R) + logz (U)

e) O log2(8) — log2(R) — log2(U) + log2(Q)
f) © None of the above

Question 2

Rewrite the following expression by using the laws of logarithms:
In (e$W6)

a) O x+6+In(W)

b) Oz + Win(6)

¢) Oz +6In(W)

d)y Oe+6In(W)

e) O —6In(W)

f) © None of the above

Question 3

Rewrite the following expression by using the laws of logarithms:

log (:1:8 (22 — 5)? )
\/ﬁzg
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a) O 8log(z) + 2log(z® + —5) — ;log(y —5) — 8log(z)
b) © 2log(z) + 8log(z? + —5) — %log(y —5) — 8log(z)
¢) O 8log(z) — 2log(z® + —5) — %log(y —5) — 8log(z)
d) O 8log(z) — 2log(z® — —5) + %log(y + 5) + 8log(2)
¢) O 8log(x) + 2log(z? + —5) + Slog(y — 5) + 8log(2)

f) © None of the above

Question 4

Rewrite the following expression as a single logarithm:

logs(Q"°) + log3(Q°) — logs(Q®)

f) None of the above

Question 5

Rewrite the following expression as a single logarithm:

In(z* — 13z + 36) — In(z — 9)

a) O ln(z + 4)
b) O In(z +9)
¢) Oln(—z —4)
d) Oln(z —4)
e) Oln(z—9)

f) None of the above
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Question 6

Rewrite the following expression as a single logarithm:

4log(V') + 9log(P) — %log(R) — 2log(Z)

QVip
a) lOg R3Z2
by O 1 (4V9P)
og | ——
VRZ?
V4P9
o)
9 VR + Z?
P4V9
o otm( 422
) VRZ?

) log ( vip® >
e —
vVRZ*

f) © None of the above

Question 7

Evaluate the following expression

log (168)
a) ©12
b) © 16
¢c) 08
d ©32
e) U6
f) © None of the above
Question 8
Evaluate the following expression
logsa (16)
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2
a) 5
5
b) Z
4
c) — g
5
d) D)
4
e) 5

f) © None of the above

Question 9

Simplify the following expression:

logs(54) — logs(6)

a) O —2
b) O3
0 O4
d) 02
e) O —4

f) © None of the above

Question 10

Use the change of base formula to write the following in terms of natural logarithms:
lOgg (7)

log7
log3

b) © log7 + log3

1
©) log3
log3
d) log7
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e) O log7 — log3

f) © None of the above
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